400/640 LC4-E—

640 LC4-E__|
SUPER MOTO

400/640 LC4-ED, |

LOCTITE 242
|
)
|

400 LC4-E 2000 <2000><EU><930306>
SIDE / CENTER STAND

640 LC4-E AUS 10
Ty’
12 /
1% 15
@13
Pos Part Number Description Additional Text Quantity
1 5840302360090 *SIDE STAND SILVER M10 LC42000 400/640 LC4-E 1.00
3 58203027200 SCREW FOR SIDE STAND M10X26,7 1.00
4 58403030000 SIDE STAND SPRING D=7,7MM '97 1.00
5 51003021000 SIDESTAND SPRING LONG 1.00
6 0912100303 AH SCREW DIN0912-M10X30 1.00
7 0912100256 AH SCREW DIN0912-M10X25 10.9 1.00
8 58403026500 S.STAND BRACKET M10 LC4/S.M'99 BLACK 1.00
13 54310086200 Self locking nut M8 10.9 2.00
20 6899785 LOCTITE 243 BLUE 5 ML 1.00

45268



